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I. A Realistic Look at Adjudication

a. Background

i. Philosophy of law

1. Epistemological – methods of legal reasoning; theory of adjudication – what it is judges do

2. Ontological – what it is for a law to exist; theory of law – what is law (what has to be the case for certain norms to be norms of law)

ii. Theory of Adjudication – 2 parts

1. Descriptive theory – how do judges actually decide cases; what is the role of legal reasoning in how cases are decided

2. Normative theory – how ought judges be deciding cases

iii. 2 broad theories of adjudication

1. Formalism

a. Can be either positivists or natural law under theory of law

2. Realism

a. Tend not to have any explicit views about the theory of law

i. Turn out to be legal positivists in their theory of law

iv. 2 broad theories of law (always conceptual – concept of law is independent of the word “law”)

1. Positivism

2. Natural law 

b. Formalism (Class of legal reasons justifies a unique outcome)
i. Vulgar Formalism – judicial decisions either do or ought to have the form of a logical deduction

1. This is the ideal to which all judicial decision making should aspire

2. This does fit the form of a lot of judicial opinion – although usually not that tidy

3. Examples

a. All men are mortal; S is a man => S is mortal

b. Zane, p. 7

c. Bowers (1986) – upholding Georgia sodomy statute; characterization of facts is central to opinion

4. Problem - too thin of an account of the process of legal reasoning

a. Must know what the general rule of law is 

b. Facts do not wear legally relevant categories on their sleeves

ii. Sophisticated Formalism – (a) law is rationally determinate and (b) judging is mechanical (no room for judicial discretion)

1. There is only one outcome that can be justified as a matter of law

a. Class of legal reasons justifies a unique outcome to a dispute

2. Scope of claim

a. Dworkin – all cases are rationally determinate; all cases have a right answer as a matter of law

i. Judges have no discretion

ii. But decision is not mechanical – implies transparency

1. There always exists a right answer as a matter of law, but we cannot always know for certain what the right answer is 

b. Bork – there is a right way to analyze constitutional questions (strongly normative, not descriptive)

iii. Components (reasoning by analogy)

1. Sources of law

2. Interpretation of sources – how it is proper to interpret valid sources to determine what principles they stand for

3. Facts

4. Reasoning about rules and facts

c. Realism

i. Who were they?

1. Karl Llewellyn (UCC Article 2)

2. Jerome Frank (trial lawyer, SEC chairman and judge)

3. Leon Green (tort law)

4. William O. Douglas (U.S. SC justice)

5. Thurman Arnold (practitioner – Arnold & Porter)

ii. Claims

1. Deny formalism as a descriptive theory of adjudication

a. Legal rules in opinions are window dressing – not really why the court decided the way it did

2. Class of legal reasons is indeterminate

a. Justifies more than one outcome 

i. You can make 2 or 3 or 4 legal arguments for 2 or 3 or 4 outcomes

b. BUT easy case is obviously rationally determinant; locally indeterminate cases are those that reach the stage of appellate review

iii. Intellectual background of legal realism 

1. Positivists

a. Natural science was the paradigm of genuine knowledge

i. Characteristics of natural science


1. Empiricism – sensory experience is the touchstone for knowledge about our world

2. Experimentation – testing of any claim against experience

3. Value neutral inquiry – observe how things are without bringing in value judgment

4. Causal laws – picture of the world as set by cause and effect laws; how everything interacts with everything else in the world

b. Positivist social science – acquire knowledge of society the same way as the natural world

i. Studying human beings is like studying atoms

ii. Behaviorism in psychology is a manifestation of positivist social science 

1. Laws of human behavior = laws of stimuli and response

c. How this appears in legal realism

i. Science of law will give an account of the patterns of decision making 

ii. Look at judges and see what kinds of cases produce what kinds of decisions

2. Langdell’s case method of instruction – realists reacted against this 

a. Langdell believed that the lawyer/legal scholar has to go into the “law” and examine opinions to deduce principles

b. Believed that legal opinions would shed light on why judges do what they do

i. Versus realists – what judges say is mere window dressing 

c. Langdell vs. realists can be resolved 

i. Official rule is “x” but something else must be going on b/c don’t always decide cases according to “x”

iv. Descriptive theory of adjudication

1. Llewelyn’s version of realism – The Bramble Bush

a. What it is: introductory lecture to new law students

i. Very meaningful to those who have completed the 1st year of law school (Leiter)

b.  “What officials do about disputes is, to my mind, the law itself”

i. For lawyers to advise clients, it is best to think about the law in terms of what the judges actually do

1. What the client really wants to know is what will actually happen

ii. C/A: Laycock’s Death of the Irreparable Injury Rule

1. Rule “courts will not enjoin behavior when monetary damages are adequate” sheds no light on what courts do in these cases 

2. If the courts want to enjoin behavior, they claim monetary damages are insufficient

c. Paper rules vs. real rules

i. Paper rules – authoritative statements from treatises, nutshells and court opinions

ii. Real rules – actually describe patters of decisions that the courts reach

1. What courts actually do is not what you would expect from looking at the paper rules

a. Judges decide based on what is fair on the facts of the case and then look for paper rules to justify these

2. Study of law must deal with real rules, not just paper rules

iii. Goal of realists – to eliminate the gap between real rules and paper rules

1. Wright thought Restatement should restate paper rules to make them like real rules

2. Why do this?

a. What function is served by having paper rules that are not real rules?

b. Paper rules don’t allow you to pick out real patterns of decisions

iv. 2 senses of the word “rule”

1. Normative sense – justifies actions (standard)

a. Paper rules are rules in the normative sense

2. Descriptive sense – description of regular patter of behavior (“as a rule, children prefer chocolate ice cream”)

a. Real rules are merely rules in the descriptive sense

d. Law is rationally and causally indeterminate

i. Rational indeterminacy of law

1. Vs. indeterminacy

a. Indeterminate – class of legal reasons can justify any outcome

i. If law were strictly indeterminate, you could give a legal argument on behalf of any conclusion in a legal dispute

b. Indeterminacy of law – the law underdetermines the outcome 

i. Class of legal reasons justifies more than one but not simply any outcome 

ii. Good arguments exist for either outcome

ii. What can cause indeterminacy 

1. Sources of law

a. Too many so they conflict

b. Too few so there are gaps

2. Interpreting facts and sources

a. Statutes can be interpreted in conflicting but equally legitimate ways (see Vanderbilt Law Review)

b. Precedents can be interpreted strictly or loosely

i. Strict – characterization ties it tightly to specific facts of case (when you want to distinguish case)

ii. Loose – abstract away from facts and state rule much more generally (when it is favorable to the outcome)


iii. Limits to loose/strict construction – implicit criterion of legitimacy (most judges and lawyers would view this as a rational legal argument)

3. Example – NY v. U.S.:

a. Majority distinguishes Garcia using strict view of precedent 

i. States & private parties vs. states only

b. Is this a difference that makes a difference? (Justice White’s dissent)

c. Realist must say that both O’Connor and White have made sound legal arguments

i. BUT you might not want to say this

ii. Not every strict reading is going to be proper

2. Herman Oliphant – A Return to Stare Decisis

a. “Core” claim of realism – judges respond primarily to the stimulus of the facts of the case, not over general treatises

i. “Primarily” because class of legal reasons is under-determinate so legal rules and reasons are not completely irrelevant

1. The legal rule applicable makes certain facts relevant

ii. The opinion may mention certain legal rules and facts, but those aren’t the facts driving the outcome

1. “Situation-type” difference actually explains the decision

a. Example – cases involving validity of K not to compete

i. Enforced in selling business, but not e’ee/e’er relationship

ii. Why? These promises are efficient (make good economic sense)

2. Leon Green wrote a torts case book organized on situation types (i.e. trains, animals, doctors)

a. Dramatic example of a realist case book

b. No such thing as the law of torts – just principles in light of certain fact scenarios

b. Why not decide cases just on the facts? (Llewellyn, Oliphant)

i. Need precedent to make it explicit to help judges

3. What determines how judges respond to the facts?

a. Idiosyncrasy wing (Frank, Hutchinson) (minority)

i. Idiosyncrasies in judges personality 

1. Wide variations because each judge is a different person

ii. Result – can’t predict what judges will do because it will be epistemologically opaque

1. The decisions of individual judges are causally determinative b/c of judges personality, not law

iii. Problem – inability to predict what courts will do conflicts with practical experience that attorneys can predict what a judge will do

b. Sociological wing (Llewellyn, Oliphant) (majority)

i. Judges respond to facts in stable patterns which is why prediction is possible

ii. There must be various social factors and influences that lead decisions to fall into predictable patters

1. Realists don’t have a substantial account as to how this came about

2. Steadying factors – what influences would steady decisions into discernible patterns

a. Example – law & economics (judges trying to reach efficient answer)

3. Llewellyn’s situation sense (Common Law Tradition)

a. Judges have situation sense which tells them what to do in particular situations

b. Each judge has his own situation sense but “what ought to be done” exists in the situation itself

v. Normative Theory of Adjudication

1. Normative quietism (Frank in theory, Llewellyn)

a. There is nothing really interesting to say about what judges ought to be doing

b. Frank – descriptive theory is how judges decide cases

i. This is just a brute fact about human psychology

1. There is nothing to be done about it 

a. “Ought” implies “can” – idle to talk about what ought to be done if you can’t possibly do that thing

b. C/A: not clear that hunch theory of decision is so wired that they couldn’t possibly do anything else

2. It would be superfluous to tell them to decide some other way

ii. Cadi justice (justice by personal predilection)?

1. Franks response

a. Did we ever abandon it?

b. Can we ever pass beyond it?

c. What we have is a version of cadi justice and it could not be otherwise

c. Llewellyn – does not say we need to be completely quiet

i. Increase conformity with dominant pattern of decision making

ii. Example – UCC Article 2

1. What judges ought to do is enforce uncodified norms of commercial market in which dispute arose

2. “Good faith” – honesty and observing reasonable commercial standards of fair dealing in the trade

iii. Thinks that the commercial norms are a sensible way to decide cases

1. BUT this is not the same as having a normative theory of adjudication

a. It is normative, but not a normative theory of adjudication

2. Llewelyn does not have a theory and he has no defense as to why judges decide cases the way they do

2. Judge as Legislator (Cohen, Holmes, Frank in practice)

a. Ricketts opinion (Frank, concurring)

i. Model of realism – cut straight to policy issues at stake

1. “When an important issue of social policy arises, it should be candidly, not evasively articulated”

ii. Frank in practice – judges should be legislators

b. Contrast – Robert Satter “Doing Justice”

i. Kind of evidence – process of decision

ii. Does not match what the realists say – it is more like the formalists 

iii. Significance

1. Describing what he does in formalistic terms 

a. BUT must be careful with judges own self-reports of how they decide cases

i. There is more latitude even if they claim adherence to formalism

2. Satter’s example is special because it involves probate issues 

a. An area where judges are particularly formalistic 

i. The party whose wishes and interests are affected are never there (they are dead)

3. Telling admission: “In each trial as the evidence unfolds, I form a tentative notion of how the cases should come out as a matter of common sense and simple fairness.  The notion may change as the trial progresses, but at the end it usually gels.  It stays in the back of my mind as the silent arbiter of my ultimate decision”

a. If he wants to reach the decision he thinks is fair, it may color what is a good result

i. It is a law-infused hunch about what the judge thinks is fair (not a laymen’s hunch)

b. If law is indeterminate, there never is a good reason to depart from what he thinks is fair

4. Legal realism must have an implicit theory of law to draw distinction between legally authoritative and non-authoritative norms

a. Any claim about indeterminacy requires a theory of law to demarcate class of legal reasons

5. When legal reasons outweigh notion of fairness, formalistic process of decision making applies

iv. Need to put Satter in perspective b/c he is a trial judge

1. Legal realism generally applies to appealed cases

3. Holmes – The Path of Law

a. Precursor of legal realism

b. Offers a piece of practical advice to lawyers 

i. Prophecy about what the courts will do because that is what the clients care about

c. Dramatic linguistic/tonal shift

i. “When we study law we are not studying a mystery but a well-known profession” vs.

ii. “The remoter and more general aspects of the law are those which give it universal interest.  It is through them that you not only become a great master in your calling, but connect your subject with the universe and catch an echo of the infinite, a glimpse of its unfathomable process, a hint of the universal law.”

d. 2 fallacies 

i. Confusing law and morality

1. Epistemological point – don’t need to know anything about morality to know what the law is

2. You can know legal rights and obligations w/o knowing what is right and wrong

a. Example – “the bad man” (you can be a bad man and know what the law is)

ii. Logic is not the only force at work in the law

1. Not just formal symbolic logic, but legal reasoning very generally

2. You misunderstand what is going on in law if you think it is just legal reasoning

a. “Behind the logical form lies a judgment as to the relative worth and importance of competing legislative grounds, often an inarticulate and unconscious judgment, it is true, and yet the very root and nerve of the whole proceeding.”

b. “You can give any conclusion a logical form”

i. Indeterminacy at its strongest – not right

e. Normative theory of adjudication – normative quietists

i. Judges ought to explicitly do what they do implicitly/unconsciously

1. “I think that the judges themselves have failed adequately to recognize their duty of weighing considerations of social advantage.  The duty is inevitable….”

f. Utilitarian thinker – criteria of wrong and right have to do with consequences of taking certain actions

i. Maximizing utility

1. What is utility?

a. Pleasure vs. desire-satisfaction

II. Law as a System of Rules (Hart & legal positivism)

a. Definitions

i. Primary rules – what you can and cannot do (i.e. substantive criminal law)

ii. Secondary rules – rules about primary rules (i.e. how disputes are to be settled)

iii. Rule-skeptic – someone who thinks legal rules are indeterminate

b. Formalism and Rule-skepticism

i. Legal realism undermines rule of law and is jurisprudentially/philosophically suspect

1. Leiter says criticisms are not ultimately sound

a. There is something correct about rule skepticism (i.e. rules are indeterminate)

i. But it is a mistake to get carried away with the claim

c. Why Hart thinks rules are indeterminate

i. “Ordinary language philosophy” – pay close attention to ordinary language to resolve/dissolve philosophical problems

ii. How do you communicate what people ought to do

1. Example (corresponds to use of precedents)

2. Language (corresponds to legislation)

iii. Legal rules are indeterminate b/c of the very nature of language itself, not because they are legal rules

1. “In all fields of experience, not only that of rules, there is a limit, inherent in the nature of language, to the guidance which general language can provide.”

2. Language is open-textured

a. Results

i. Words have core and penumbral instances

ii. Indeterminacy

1. Rule is indeterminate when facts in case fall within penumbra of central words of rule

a. Judges must exercise discretion

b. Not bound by legal norms

c. There is nothing wrong with the exercise of discretion

b. All general terms are open-textured

i. C/A: you could qualify rule with enough general terms so that combination would force all facts to fit within core meaning

1. BUT this is not likely to happen

a. World is complex

b. Cannot anticipate everything that will happen

c. Why?

i. “Sorite’s paradox” 

1. Paradox of the heap

a. If you have one grain of sand, that is not a heap

b. If you have lots of grains of sand, that is a heap

c. If you move grains from heap to “one grain,” “one grain” will become a heap

d. Paradox is that you cannot say when – cannot identify the point when it becomes a heap

2. There are lots of words that have the paradox of the heap

a. Example – “bald” & Telly Savalas vs. Dean Powers

3. BUT this cannot be the primary explanation b/c not all words (i.e. vehicle) have the paradox fo the heap problem

ii. Lack of determinate criteria of application for a predicate

d. Hart presupposes “empiricist theory of meaning” (descriptive view of meaning; meaning is a matter of use)

i. Why empiricist theory

1. Descriptions would be based on what was available through simple empirical observations

ii. 2 component parts

1. What the meaning of the word is

a. Meaning of the word determines what it refers to

i. Once we have the meaning we can tell what it refers to

ii. Meaning: given by the cluster of descriptions that competent speakers of the language would associate with the word 

iii. How the majority use it (purely statistical)

b. Core instances will be cases where fact falls squarely within descriptive statements of competent speakers

c. Penumbral instances occur when competent speakers disagree/have uncertainty

d. To say that a word has core and penumbral instances means there are core instances when it clearly applies

i. Brink – useful outline of how this leads to indeterminacy (p.126)

e. Every word has 3 possibilities

i. Facts fall clearly within core meaning

ii. Facts fall clearly outside core meaning

iii. Hard case – source of indeterminacy 

f. Hart’s easy vs. hard cases

i. Easy – facts of case fall within core meaning

ii. Hard – facts of case fall within penumbra of the meaning

2. What the word refers to – referent

e. Alternative – new (causal) theory

i. Natural kind term – any term about which there are scientific generalizations (and proper names, to an extent – consider problem of Aristotle)

1. Example – gold means whatever has the essential atomic structure of the stuff

a. Under empiricist theory, need to know descriptions of gold (yellow, hard, shiny)

b. Gold then picks out all the stuff in the world that satisfies these descriptions

c. BUT this does not discriminate between gold and fool’s gold

d. Gets the wrong result for natural kind terms

ii. Reference determines meaning 

1. No appeal to descriptions associated with word

2. Makes it possible to explain disagreement 

3. The stuff we baptize has essential nature 

a. If we baptize fool’s gold as gold, then the word gold would mean fool’s gold

iii. Problem – does not apply to all words (ex. heap) 

1. If the natural kind theory makes a difference to legal indeterminacy, then it must apply more broadly than to natural kind terms

2. New theory of reference only works where essentialism is true

a. When the stuff we baptize with some name has essential characteristics that make it what it is

b. In scientific context, it seems highly plausible

c. It is inescapable that if the new theory applies to a word, the word is not indeterminate

3. Even though new theory may be good account of natural kind words, it does not mean that these words in legal context are not indeterminate

iv. 3 issues

1. Scope of theory

2. Moral terms

a. There must be something essential in order to apply this theory of meaning to those terms

i. Moral realists – objective moral facts fix the meaning of moral terms

ii. Institutionalists – moral features are just as real as other features so you intuit them (BUT what if you don’t have the intuition)

iii. Utilitarians – moral terms break down into natural kind terms so the new theory of reference can be applied

b. Not obvious that the new theory of reference will help with the interpretation of moral terms in a legal setting

3. Does natural kind theory resolve indeterminacy of meaning of natural kind terms in legal context

a. If new theory gives a good account of the term, it does not mean court can easily apply the term to a case

b. Example: No killing fish within 100 miles of coast

i. Even if natural kind theory gives accurate picture for all the words in the statute, it does not give all the answers for how the judge should interpret statute

ii. Fish is a natural kind term and a whale is not a fish (it is a mammal), but didn’t legislature mean to protect all things swimming in the water

iii. Indeterminacy results b/c court must ask what legislature really intended

v. Hart’s response – Indeterminacy is related to the open-texture of language and another theory of meaning will not necessarily get rid of that indeterminacy

1. Penumbra of moral terms may be bigger than penumbra of other terms because moral terms seem to provoke more controversy

iv. Hart vs. the realistists in understanding indeterminacy of law

1. Realist argument has nothing to do with open-texture of language => focus on interpretation of law and legal reasoning

2. Hart focuses on feature of language, not law, for indeterminacy

a. Where indeterminacy resides, courts make law 

i. At the margins

ii. Judges are exercising legislative functions, but they don’t write opinions that way

d. Kinds of rule skepticism

i. Global rule-skepticism: denies the existence/relevance of primary and secondary rules (rules about primary rules)

1. Why this is mistaken according to Hart: incoherent position to maintain

a. To deny that rules make a difference as to what courts do, you must accept the existence of courts which requires the existence of secondary rules

b. This is correct – cannot be an attack on all rules must be more limited in its scope

2. C/A - Legal realists are not necessarily committed to this 

ii. Conceptual rule-skepticism: offers a skeptical account of the concept of law (prediction of what the court will do)

1. Denies the “simple view” of law

a. Certain prior official acts are part of the law, whether by legislatures or courts 

b. This is a base-line common sense view 

2. Law is whatever s court does on a particular occasion or prediction of what court will do

a. May be consistent with prior acts but that is not relevant

3. Why this is mistaken according to Hart:  

a. Proposed analysis of concept does not fit with central uses of concept

i. Fails to account for a concept of law

b. Prediction of what courts will do does not do justice to use of term “law” in many situations

i. Judicial mistake – presupposes law is a set of standards separate from particular decision

1. Under conceptual rule-skepticism, it is impossible to express the thought that the court was wrong 

a. Says judicial mistake is incoherent and nonsensical

ii. “Internal” aspect of rules 

1. Normative sense – rule is accepted as a standard to which people want to conform conduct, to justify conduct, to criticize non-conformists

2. Conceptual rule-skepticism eliminates internal aspect of law

a. Assuming Hart is correct, this is an important feature of the concept of law

4. C/A: may be justified if limited to only hard cases (but not confined just to hard cases)

a. It is not clear that there really are any conceptual rule skeptics

i. Hart has interpreted some things legal realists have said in this way, but legal realists were not answering Hart’s question

1. Hart’s question – What do we mean by a certain concept?

2. Legal realists are not philosophers interested in analyzing a concept

a. What the courts will do is not a concept of law

i. Legal realists have this practical motivation 

iii. Empirical rule skepticism: rules are indeterminate b/c language is open-textured, so rules don’t make a causal difference to judicial decisions

1. Legal realists ARE empirical rule skeptics

a. Real dispute between Hart and legal realists

i. Harts reason for legal indeterminacy does not equal legal realists argument for indeterminacy

ii. At the stage of appellate review, rules play a minor role 

1. Dispute is a matter of degree

2. Why this is mistaken according to Hart:

a. The mere fact that judges may decide cases on a hunch and conform cases after does not support/prove empirical rule skepticism

3. C/A: Nothing – Hart could be right but he does not give any evidence

a. No argument against legal realists 

b. How does Hart know the legal realist is wrong?

e. Hart’s Legal Positivism 

i. All versions of legal positivism are committed to 2 claims

1. Social thesis – what counts as law in any society is a matter of social fact

a. Social facts may differ in different societies

b. Example – a certain social body (e.g. legislature) did something

2. Separation thesis – what the law is and what the law ought to be a separate questions

a. We can answer the question what law is and that is different from the question of whether it is good, fair, just law

3. Example – Austin’s theory that law is a command of the sovereign backed by a threat of sanction

a. Social fact – sovereign (law is whatever the sovereign has commanded)

i. Once you know who the sovereign is and what he is commanding, you know what the law is 

b. Separation thesis – no necessary connection between law and morality

i. Just because sovereign commands it does not mean it is moral

ii. Methodology

1. “General jurisprudence” – an account of the concept of law applicable in any society at any time

a. Vs. “particular jurisprudence” – understanding law in a given society

2. “Descriptive sociology” – w/o any empirical field work (or so it seems)

a. Ordinary language philosophy – looking not merely at words but also at the realities we use words to talk about

i. This is dead as a philosophical movement

1. Does this raise questions about Hart’s methodology in Concept of Law

ii. Wants to understand the concept of law through understanding the ordinary way we use language

1. The concept of law that is manifested in the ordinary language used to talk about law

iii. 2 features of the concept of law

1. Criteria of legality – it is part of our concept of law that there are criteria that distinguish legal norms from other types of norms

a. Any satisfactory analysis of the concept of law must explain criteria

2. Normative or authority of law – idea that a norm of law gives you reasons for acting that you would not have if the law were not a legal norm

a. Example – difference between legislature and Leiter saying “don’t’ go over 65 mph on Mopac”

i. If legislature says it, you have a reason for acting

iv. Criticism of Austin – does not give adequate account of normativity of law or concept of legality

1. Account of Criteria of Legality

a. Austin’s criteria of legality 

i. Command of sovereign not backed by threat of sanction is not a law

ii. Command of other than sovereign, even if backed by sanction, is not a law

b. Difficulty is that there is a whole range of familiar legal rules that don’t have this structure (not commands of law backed by threats of sanction)

i. Under Austin’s theory, these would not be laws

ii. Example – “power-conferring rules” – rules that confer powers on people in the system

1. Can be either private (wills, marriage) or public (powers to be judge/legislator) laws

2. C/A: power-conferring rules do have a sanction down the line – the sanction of nullity

a. If this is right, even power conferring rules fit Austin’s theory

3. Hart’s response

a. Nullity is not necessarily a sanction (simple)

i. Nullity may be the desired outcome

ii. C/A: even in criminal law, sanction may not be disliked by party being sanctioned (this simple response is probably too quick – it cannot be that there are no sanctions)

b. Forces power-conferring rules into the wrong structure (complex)

i. It is a stretch to force all legal rules into one model (the model of criminal law)

ii. The logical structure of power conferring rules is not the same as the logical structure of criminal laws (in criminal law, if you subtract the sanction, there is still an intelligible standard of behavior)

iii. Nothing about the standard of conduct of power-conferring rules entails the sanction (no particular sanction has to be paired up with the command)

4. Austin’s C/A: subtle difference in logical structure is correct, but is that a difference we should worry about when developing a theory of law

iii. This is only the tip of the iceberg of why Hart thinks Austin’s theory fails

1. Cannot advocate Austin’s theory by discounting as law power-conferring rules

a. Even people who have never set foot in a law school recognize laws of K as laws

2. Hart wants to articulate theory of law to allow for substantial differences between laws of different societies over different times

2. Austin’s concept of sovereign – the one who is habitually obeyed and obeys no one (a social fact about society)

a. Hart’s criticisms

i. Continuity of sovereign power when there is a change in sovereign

1. Under Austin’s theory, there is no guarantee of continuity

a. It is an open question whether the next person is actually a sovereign (being habitually obeyed requires the passage of time)

2. BUT it is not the case that all transfers of power require passage of time to establish habit of obedience

3. Cannot accommodate sovereign office under Austin’s theory

a. Sovereign office can explain continuity but cannot just convert sovereign into “sovereign office” w/o same problems arising

b. Hart – you cannot have a notion of sovereign office without a notion of rules (defect in Austin’s theory is that he makes no use of rules)

ii. Persistence of laws across sovereigns – laws continue to be enforced even when sovereigns change

1. Cannot just change Austin’s theory to “command of a sovereign”

a. Makes all laws commanded by a sovereign permanent

b. The best the next sovereign can do is command the opposite – conflicting laws result

c. Need to continue altering Austin’s theory to make this work (e.g., add “unless another sovereign commands otherwise”)

iii. Limits of sovereign power

1. Austin’s account makes it impossible that there could be legal limits on sovereign power

a. Any limits would require sovereign to obey himself

3. Normativity (gives reason for acting that we would not have otherwise)

a. Austin’s normativity = “gunman model”

i. Normative in that it gives you a reason for acting (short-term prudence; self-interest)

b. Hart’s criticism 

i. There is a difference between being obliged to do something and having an obligation

1. You don’t have an obligation to the gunman – you are obliged to do it

2. But with law you speak of obligations to do something because it is the law

a. The normativity of law is such that it can support obligations

b. There is more to the normativity of law than the normativity of short-term prudence

ii. Habits of obedience are inadequate to account for sovereignty

1. Habit of obedience is a rule only in the descriptive sense

2. Habits of obedience & social rules 

a. Social rules

i. Pattern of convergent behavior

ii. Rule describing pattern of behavior is accepted from an internal point of view (view it as a standard of conduct which can justify conformity and standard to criticize those who deviate from the rule)

iii. Example – rule of succession

b. Some legal rules have to be social rules for a legal system to exist

i. To account for the phenomenon of law

ii. Some secondary rules have to be social rules

iii. Rule of recognition must be a social rule

c. (All) normative rules have to be social rules

i. This was later abandoned b/c it is too easy to think of moral rules that don’t fit this definition

v. Why there cannot be a legal system with only primary rules

1. Uncertainty – how do you know which of the rules you have an obligation to follow

a. Fixed by the Rule of Recognition – which rules are part of the legal system; criteria of legality

i. Is there any constraint on the criteria a legal rule might embody?

1. Pedigree criteria – criteria about the source of a rule or norm

a. Can this include content-based criteria of legality?

ii. Criteria of legality differ from society to society

1. Hart does account for this

2. Law is a conventional human practice

a. Content of practice can be various 

i. Rule of recognition may include moral criteria

ii. Using moral criteria, what the law is and what it ought to be are the same question

iii. If there is no Rule of Recognition, there is no law 

1. Sets out criteria of validity

2. Necessary and sufficient conditions for the existence of a legal system

a. Those rules of behavior that satisfy Rule of Recognition must be generally obeyed

i. No legal system if most of valid rules are not obeyed

b. Must be accepted by officials

i. There is not a legal system if secondary rules are not social rules

iv. Rule of Recognition is a social rule

1. Example: officials who decide cases in US engage in convergent pattern of behavior by looking to the U.S. Constitution

a. Other kinds of enactments are not valid if they conflict with the Constitution

2. Stasis – if you have primary rules w/o provisions to change/modify you are stuck with whatever primary rules you have

a. Fixed by Rules of Change – specify procedures by which a primary rule can be brought into being/changed

3. Inefficiency – cannot ensure and sustain compliance with primary rules (only have informal social pressures)

a. Fixed by Rules of Adjudication

III. Adjudication and Moral Principle

a. Natural law – 2 commitments

i. Committed to objectivity of values

1. What is really valuable/good/right is independent of what the individual/community/everyone believes or might come to believe

2. Degrees of objectivity

a. Robust/Strong objectivity – independent of what everyone believes or might come to believe 

i. What people believe is not related to what is morally right

ii. Not a point about knowledge but the metaphysics of value

iii. Natural law theorists are committed to objectivity of value in a robust way

b. Pure subjectivity is the opposite of the robust objectivity view

c. Intermediate examples

i. “Fashionable” – an individual can be wrong about what is fashionable but it is not independent of what the community believes

ii. “Green” – an individual or group can be wrong b/c of unsuitable conditions

1. Color is not something robustly objective

a. It is a response dependent concept

2. X is green if and only if normal observers under normal conditions would be disposed to see it as green

a. “Normal” – statistical notion; average human being with typical viewing apparatus

3. Sources of objectivity (standards of moral rightness/wrongness)

a. Nature

b. Human nature – certain essential characteristics make only one kind of morality possible

c. God – objective moral standards are dictates of God

d. Dworkin’s account

ii. There is a necessary connection between law and morality

1. What is this claim?

a. About the concept of law?

i. Not a plausible account of the concept of law b/c too easy to think of unjust laws

b. About obligation?

i. More realistic but then it does not emphasize dispute with legal positivism

c. Fuller – the internal morality of law 

i. The possibility of something counting as law requires that certain moral standards be met

1. Ex: rules must be public, understandable, consistent

ii. Hart’s response – standards are a necessary condition but what does this have to do with morality

1. Connection between law and norms is valid but norms don’t necessarily relate to morality

iii. Alternative characterization of Fuller – when legal systems adhere to principles of legality, they are unable to be unjust or immoral

b. Dworkin vs. Hart

i. Model of Rules I – systematic critique of legal positivism

1. Dworkin’s account of positivism (not accurate or fair)

a. Law consists of rules (as distinct from principles)

i. Rules are standards that apply in an all or nothing fashion but principles are a different kind of legal standard 

1. Principles have a certain weight but do not dictate a particular outcome in a particular case

b. Rule of recognition can include only pedigree criteria of legal validity

i. Issue – can a rule of recognition with only pedigree tests account for Dworkin’s “principles”?

1. Hart – yes (it can account for some of them)

a. Hart argues positivism is not committed to “b”

2. Raz – No b/c rule of recognition with moral criteria of legal validity makes it impossible for law to be authoritative

c. Where no rule applies to a case (i.e. not an easy case), judges have discretion

d. When judges have discretion, there are no legal rights

i. No party has a right as a matter of law to prevail in a case

1. Non-legal considerations determine the outcome

2. Dworkin’s argument against positivism – any satisfactory theory of law has to provide an explanation for the exercise of coercive power by the courts 

a. Theory of law must provide a justification for deciding hard cases

i. It must be that there is a right answer as a matter of law

3. 2 central distinctions in Model of Rules I

a. Principles vs. policies

i. What are these?  

1. Rationales that must be given for various kinds of legal standards

2. Both answer the question – what makes a particular act morally right

ii. Central difference

1. Principles – invoke and protect individual rights (deontological)

2. Policies – invoke and protect social goals (utilitarian)

iii. Principles (deontological)

1. Moral rightness does not depend on maximizing well-being

2. Moral rightness is separate from consequences of action

a. Kant – moral rightness depends on motive beneath action performed, regardless of consequences

i. Wrong motive – selfish, egoistic, satisfaction of desires

ii. Right motive – to act in such a way that the maxim describing your act could be a universal law; must respect dignity and autonomy of each individual

iii. Example – lying is never morally permissible, so a rationale person would not act on a maxim that permits lying in some circumstances

3. Moral rightness = respecting the rights of all individuals with equal concern 

a. Thus, cannot enslave 5% of the population to benefit 95% 

iv. Policies (utilitarian)

1. Focuses on the maximization of well-being

a. Therefore, it can be morally right to tell lies in certain circumstances   

2. Don’t take notion of individual rights seriously

v. There is a real tension between principles and policies even if there are circumstances in which deontological and utilitarian approaches would reach the same conclusions

1. Dworkin – rights function as trumps on pursuit of social goals

b. Principles vs. rules

i. Principles – in this comparison encompasses both principles and policies

1. Principles have “weight”

2. Positivist notion of rule of recognition cannot account for principles

ii. Rules – applicable in an all or nothing fashion

1. If you satisfy the factual predicate of rule, rule determines outcome

2. Rules don’t balance against each other but can be defeated by principles

iii. Hart’s response – not his definition (rule = legal standard)

1. Weak vs. strong discretion

a. Weak – judgment required to apply the standard (no mechanical application)

b. Strong – no legal standard at all controls the decision

2. Judges have discretion whenever the law(principles & standards) is rationally indeterminate

a. Principles and rules can be open-textured so discretion must be exercised in that more than one outcome is justified

4. Dworkin’s 3 key arguments with Hart about why positivism cannot account for principles

a. If principles were part of the law, there would be no discretion, except in the weak (trivial) sense

i. BUT Dworkin’s distinction between weak and strong discretion is not the one advocated by positivists

1. Hart’s discretion – whenever the law is rationally indeterminate (class of legal reasons justifies more than one outcome)

b. Pedigree tests cannot account for principles 

i. Rule of recognition can only employ pedigree tests of legal validity

1. Pedigree tests will not work for Riggs/Hennyson principles – power depends on appropriateness

ii. Hart’s response – common law principles do have pedigrees

1. Principle/norm is a valid legal principle if it has been accepted by enough courts for a long enough time

iii. Dworkin’s response – rule of recognition should enable you to recognize what rules are valid legal norms (performs an epistemic function)

1. BUT Hart’s response employs vague (open-textured) terms so there will be cases when it will be unclear

2. Positivism is committed to RR fulfilling epistemic function but RR encompassing principles fails to fulfill this function

iv. Hart’s next response – RR performs epistemic function but it does not have to have an answer in every case

1. There are some principles that are just, fair, and legally binding but don’t satisfy any pedigree test 

2. RR doesn’t have to be epistemically perfect

v. Dworkin’s next response (really a response to Hart’s first response) – Not all principles are like common law principles; some are valid solely in virtue of their content

1. Legally binding b/c they express compelling notions of justice and liberty (moral content)

vi. Positivist responses to this

1. Although courts may claim to be invoking non-CL principles, they are really instances of the court making new law (Raz)

2. It is a mistake to think RR can only have pedigree tests of validity (soft positivism)

a. Nothing prohibits inclusion of content-based criteria b/c RR is a social rule

b. That there is no necessary connection between law and morality is consistent with a society that uses moral criteria in RR

c. Non-pedigree tests of legal validity would also defeat the epistemic function of RR

i. RR using content based criteria fails its function – it is not going to help at all

ii. Hart’s response should be – RR does not have to be perfect so controversial moral principles just mean that RR does not fulfill function perfectly

1. Moral terms are like any other terms – have core and penumbral instances

a. Penumbra is probably just bigger

iii. Dworkin’s response – moral criteria are highly controversial so RR incorporating them does not fulfill its epistemic function

iv. Hart’s response – core instances of moral criteria can identify valid legal norms

5. Arguments against soft positivism

a. Dworkin – RR must fulfill epistemic function; public guidance

b. Raz – Concept of authority (Authority, Law, & Morality)

i. All law purports to have authority – to give certain kinds of reasons for acting in compliance with the law demands

1. Types of authority

a. Practical – what one ought to do (action based)

i. Reasons properly considered yield the right answer

b. Theoretical – what it is you ought to believe

i. Reasons advanced by theoretical authority (i.e. Laycock) will better lead you than trying to figure it out on your own

ii. Mediates between dependent reasons and trying to figure out what to believe (“service conception of authority”)

iii. What theoretical authority tells you to do preempts consideration of dependent reasons

2. Raz’s requirements for authority

a. Authorities mediate between the reasons that apply to the alleged subject of that authority and what it is the subject ought to believe or do

b. A claim to authority is justified if the authority passes the normal justification test

i. Law makes us better able to do what we would otherwise do if we tried to sort through all the reasons ourselves

ii. If there is a range of issues in which no moral expertise is needed, laws claim to authority may be justified b/c ability to collect info and solve coordination problems

iii. Objective test – not whether people treat someone as authority

c. An authoritative reason is exclusionary – preempts consideration of the dependent reasons 


i. If you look beyond what authority says, you are not taking it as authority

ii. There is a distinction between whether someone is treated as a theoretical authority and whether they are a theoretical authority

iii. Law cannot possess authority unless it is possible to identify directives without recourse to dependent reasons

d. Non-normative prerequisites for authority’s directive are identifiable w/o recourse to the dependent reasons

i. This highlights why account of authority is incoherent with soft positivism

ii. Can’t be an authority is you have to go to the dependent reasons (pay $350 in taxes vs. pay the fair amount – doesn’t tell the official what to do)

3. Laws claim as a practical authority depends on result that you do what you ought to do

a. Excludes consideration of dependent reasons

ii. If RR employs content-based criteria of legal validity, it would make it impossible for the law to have authority

1. RR cannot incorporate moral criteria b/c it does not mediate between dependent reasons and what you ought to do

iii. It is part of the concept of law that law purports to have authority

c. Counterarguments to Raz (Leiter excerpt)

i. Authoritative reason does not have to be exclusionary

1. Perhaps it is sufficient to say authoritative reason has extra or more weight than dependent reasons (but not exclusionary weight)

a. If that is the case, then it is ok if you have to look to dependent reasons

2. Issue – how much is enough weight?

a. Is it enough to say it was authoritative even if they were given a lot of weight and not followed?

c. Dworkin’s Natural Law Theory 

i. Sets out systematic view about how judges should decide cases

ii. Broad overview 

1. Rights thesis - judicial decisions, even in hard cases, enforce existing political rights

a. Duty of judge in hard cases is the same as in easy cases

i. Only difference may be a difference of degree

b. It is the duty of the judge to discover that the rights of the parties are – not invent rights retrospectively

i. Judge must construct best theory of prior institutional history and then rights are those that fit with this theory

1. All of the stuff with the right pedigree is part of the institutional history (component of what Hercules needs)

2. Not a good theory if it does not fit prior institutional history

a. Must describe/capture what the prior cases are about 

3. Must also justify prior institutional history as a matter of political moralty

ii. Thus, legal positivism gives adequate account of data of institutional history but positivism is incomplete (Law’s Empire)

c. Best explanation test – reason to be skeptical about whether there are right answers in hard cases

i. In any domain where there is intractable disagreement, it is reasonable to ask why the disagreement exists

1. Sometimes the best explanation is that there is no fact of the matter

a. Examples – children disagreeing over ice cream flavor vs. disagreement over color between color-blind and normal-seeing person

2. The best explanation for why there can be persistent disagreement among judges in hard cases is that there really is not a right answer as a matter of law

2. Rejects verificationist assumption (he is right to do this)

a. Verificationist assumption – no proposition can be true or false unless you can demonstrate that it is true or false

i. Only that which can be verified or demonstrated really exists

b. Rejected b/c this cannot be done with hard cases

i. Not plausible to link existence to verification

ii. Just because we cannot shoe what the right answer is in hard cases does not mean that there is no right answer

iii. Theory in detail

1. A party’s legal rights are those that flow from (cohere with) the best theory of the institutional history

a. The best theory both explains (fits) and justifies the institutional history

b. This is not a theory of “general jurisprudence” (as like that set forth by Hart)

i. Because Dworkin’s theory can only make sense of a system presumed to have an institutional history that is morally defensible

ii. If all of the principles that fit are immoral, no comparative decision making can transform the system into a moral one

1. Cannot modify it to embrace the morality of the particular community so as to make it a theory of general jurisprudence

2. Process – the ideal judge (Hercules) surveys the entire institutional history and starts by asking what principles explain what comes before and then those that fit the institutional history

a. This method of decision making is a more explicit and complete version of what it is judges try to do

i. “Ought” implies “can” – it cannot be the case that you ought to do something you cannot do

1. Problem – can a judge be Hercules?

2. You ought to aspire to the structure of decision making as done by Hercules

3. Dispute with legal positivism 

a. Parties legal rights do not depend solely on morality

i. Morality considerations merely figure into the justification stage but are not in and of themselves determinative

4. Example – Bowers v. Hardwick
a. Look at the cases with questions of fundamental rights (Meyer, Pierce, Skinner, Griswold, Eisenstadt, Roe)

b. What principles fit this institutional history?

i. Narrow autonomy principle – right to make autonomous decisions with respect to family matters

ii. Broader autonomy principle – individuals have a right to make autonomous decisions with regard to private matters

c. Must then decide which principle to rely on

i. If narrow principle applies, then Georgia can circumvent conduct

ii. If broader principle applies, then Georgia statute is unconstitutional

d. The principle that is the best theory of the institutional history is the one that justifies it morally 

i. Which type of society is more morally defensible?

ii. The stage of justification is pure moral decision making

iii. Legal rights depend upon outcome of moral argument

1. Presupposes that there is a right answer to the moral question

2. The only way to show one is morally better than the other is to give convincing moral argument for that answer

a. Example – utilitarian argument => maximizes human well-being

3. BUT what the morally best outcome is is not necessarily determinative of legal rights b/c of institutional history

5. Doctrine of mistakes

a. Hercules is supposed to treat the law as if it is a seamless web, but of course, it is not

i. There will be conflicts in the institutional history

1. Institutional history of a complex legal system is big

ii. Result - sometimes you have to treat part of the institutional history as a mistake so that principle does not have to fit with these

b. What is the basis for treating part of the institutional history as a mistake?

i. Show that although it has not been repealed or overturned, times have changed and it is no longer recognized as binding

ii. Cannot choose those principles on the basis that they fit with judges views – must be the ones judges truly believe are best

1. BUT it is probably very hard for individuals to disentangle these 2 things

2. Dworkin believes there are objective answers so there is a space between morally correct answer and judge’s particular view

c. Rationale – treating like cases alike is not the highest possible good if the way all the other cases have been treated is appalling 

i. Fairness does not dictate that just b/c in the past things were done this unjust way so we should continue to do this

d. This makes the requirement of fit much weaker

i. Could apply to an immoral legal system b/c judges could decide the majority of cases are mistakes as fundamentally unjust

ii. Could make justification swallow the whole process

1. If Hercules can argue that it is not morally defensible then it does not have to fit institutional history

e. Community morality – does this put any constraint on Hercules ability to declare part of the institutional history a mistake?

i. Hercules theory of adjudication at no point provides for any choice between his own political convictions and those he takes to be the political convictions of the community at large

ii. At the justification stage, moral considerations can be either:

1. Community morality OR

a. Underlie the institutional history in some way

i. Not an opinion poll – may not be recognized by the community 

2. What is REALLY (objectively) best

6. Example – Freedom’s Law

a. Subjective vs. structural discrimination

i. Fried argues that it is unconstitutional to take steps to remedy structural discrimination

ii. Dworkin – what is the principle of justice that allows government to redress subjective but not structural discrimination?

1. What is the principle that appeals to individual rights that would explain this?

a. The right to be considered as an individual and not in terms of the group to which government says you belong

i. BUT this does not fit the institutional history b/c there are all kinds of benefits distributed on group, not individual, consideration 

b. The right not to be treated as members of a racial group 

i. Racial classifications are inherently suspect 

ii. BUT this does not explain treating subjective and structural discrimination differently

2. Conclusion – Fried has no principled justification for treating these differently

a. It is just pure politics

7. Interpretation Theory as Expressed in Law’s Empire 

a. Law as integrity – law as a seamless web

i. Principled coherence to institutional history

b. Constructive interpretation – 3 stages

i. Pre-interpretive stage: the data constitutive of a practice

1. We must define what we are interpreting

ii. Interpretive stage – fit and justification (“best light”)

1. What principles fit the data

a. Fit is not enough because more than one set of principles will fit

2. What principles show data in the best light

3. This process is “hidden” – i.e. judges don’t write: “here the ‘fit’ is done, now its time for justification”

iii. Post-interpretive stage: understanding/interpreting the practice in a way that makes it sensible/intelligible

1. After justification, go back and adjust perception and interpretation in light of the purpose we’ve attributed to it

c. All cases have a right answer as a matter of law

i. What is morally best 

1. What is actually best, not what is perceived as morally best 

ii. C/A – (Mackie) morality is not objective b/c world does not contain moral facts and properties

iii. Dworkin’s response – distinguish between internal and external skepticism

1. Types of skepticism

a. Internal (moral) skepticism – offer moral argument for a skeptical conclusion

i. Dworkin – this can be defeated

ii. Internal to the domain about which it is skeptical

iii. Makes first order arguments for skeptical conclusions

b. External (moral) skepticism – offers nonmoral arguments for a skeptical conclusion

i. Dworkin – this is not an issue when we worry about the objectivity of law/morality (irrelevant)

ii. Metaphysical arguments about what really exists

2. Why Mackie’s theory is wrong

a. We use moral words b/c we presuppose – we presuppose they refer to something refer to something in the world

b. BUT none of these things really exist, so if Mackie is right, use of moral words is systematically in error

i. Why keep having discussions about things that don’t exist

c. Thus, it is a mistake to understand moral language the way Mackie does

i. Moral language should be understood as expressive rather than distinctive

ii. The point of moral language is to coordinate behavior with other people

iv. Leiter – the real issue Dworkin wants to raise is:  “What is the appropriate conception of objectivity?”

1. Dworkin is arguing against naturalistic conception of objectivity when he is arguing against external skepticism

2. Naturalistic conception – x is objective if

a. It is mind-independent (does not depend on what we happen to think about it) AND

b. It is causally effective - it figures in the best causal explanation of our experience

3. This conception of objectivity is perfectly good for the scientific world but should not apply in the case of morality 

a. Dworkin needs an argument for why this is so

b. Appealing to moral experience does not show it is wrong to apply the naturalistic conception of objectivity

c. BUT it is true that in morality we don’t make causal claims so an epistemology that makes causality central should not be applied where claims are not causal

i. Not obvious that it is correct to say morality does not involve causal claims

d. Saying that naturalistic conception is arbitrary does not make any sense with history b/c it works really well in certain domains

i. But maybe there ought to be a limits to the kinds of domains to which this is applied (i.e. not to domains where we are not making claims about cause and effect)

4. What account of objectivity is appropriate for morality

a. “Susceptibility to reasons” – what it means to say that a moral view is objective is to say that it is susceptible to reasons

i. You can engage in a rational discussion about it

b. How do we know which moral arguments are stronger arguments?

i. There is no objective fact about whether chocolate ice cream is better than vanilla but objectively chocolate ice cream is better than shit

c. Is it really the case that naturalistic conception of objectivity is irrelevant to morality?

d. Is it conceptually possible for a hegemonic convention of reasons to arise around a subjective question?

i. Hegemonic – reasons favoring chocolate dominate over reasons favoring vanilla

ii. If so, there is more to objectivity than susceptibility to reasons b/c if this is all that mattered we would be forced to say chocolate is better than vanilla

iii. BUT chocolate is better than shit so hegemonic convention of reasons does exist 

e. Result – what we are talking about is a type of objectivity – intersubjectivity (where everyone’s tastes collide)

5. External skeptics deny that moral principles are susceptible to reasons 

a. No moral reasons for adopting one ethical stance over another

iv. Summation of Dworkin – theory of adjudication makes it the case that legal rights depend on moral principles

1. Underlying question of morality – morality must be objective or right answer thesis cannot be maintained 

2. Determinacy of morality does not flow from its objectivity

3. We have not shown that morality is objective in a way that does not create problems for Dworkin’s theory 

IV. Legal Indeterminacy Revisited (Critical Legal Studies and Its Critics)

a. Two distinct themes

i. Law is indeterminate – “law is politics”

1. Since law is indeterminate, a legal decision is not different from a political one

2. There is no such thing as an easy case

ii. Contradictions in the political morality underlying the law

1. A rejection of welfare state capitalism from the left

2. Principles of political morality are contradictory

a. Example – altruism vs. individualism

b. How CLS claims law is indeterminate

i. Indeterminacy of language (like Hart)

1. Appeal to different sources than Hart

a. Derrida (deconstruction) – “there is nothing outside of the text”

i. Even claim about the world is an interpretation imposed upon another interpretation

ii. All text contain and hide certain contradictions/tensions

1. Deconstruction brings these out and shows a text meaning one thing could mean something else

iii. Derrida-style argument allows for the statement that there never is an easy case

1. BUT there are examples of easy cases

b. Wittgenstein – there is no fact you can refer to that makes the particular rule determinate b/c evidence is compatible with an alternative rule

i. What CLS draws from this - there are no facts that determine or fix the precise meaning of a rule

1. BUT this is not what Wittgenstein is trying to establish

a. He wanted to establish that the rule’s determinate meaning cannot appeal to facts of past behavior

i. Rule could not have a particular meaning if lifted out of a community practice

ii. The principles of political morality underlying the law are contradictory 

1. Contradictory at the level of ideas

2. This critique of law aligns CLS writers with a tradition of left-wing thought

a. Hegel – what explains historical change – certain tensions/contradictions become too hard to ignore leading to a new way of looking at things and transforming society at large 

i. Thesis -> antithesis -> synthesis (and then the process starts again)

b. Left young Hegelians (e.g., Bruner, Bauer) – reigning world view of Prussia is itself a world full of contradictions 

c. Marx critique of Bauer et al – what matters is contradictions in economics

i. When dominant forms of economics hamper relations of production (fetter full development of the forces of production)

ii. This kind of contradiction actually leads to social upheaval

1. If technologies exist that would confer more production/power, then someone will want to use them and this may lead to a change in property rights to make use of these

d. Lukas – History and Class Consciousness – consciousness of any particular era is filled with contradictions 

i. Liberal thought is filled with contradictions so it is fundamentally unstable 

e. Roberto Unger – Knowledge & Politics – same argument as Lukas

i. A good way to criticize the existing order is to highlight underlying inconsistencies/contradictions

3. Result – b/c legal reasoning is indeterminate, the decisions judges make are really political choices

a. The ordinary forms of legal reasoning obscure the political choices 

i. There is no way for a judge to be neutral  (Kennedy)

1. Rules vs. Standards

a. Rules – direct officials to respond in determinate ways

b. Standards – express one of the substantive objectives of the legal order

i. Don’t apply in an all or nothing fashion

ii. Don’t apply mechanically – require some judgment

2. Individualism vs. Altruism

a. Individualism – it is perfectly right to seek to advance your interests over everyone else’s

b. Altruism – your interests are distinguishable from those of others, but they should not be pursued over others

i. Unconscionability doctrine in K law represents altruism in K law (which is essentially altruistic)

ii. Application will depend upon judges view of individualism

ii. Thus, underlying the law are principles that contradict each other – this leads to indeterminacy

1. Example – we need other people, yet other people are a threat to our autonomy 

a. It is impossible to be an individual person b/c of contradiction (Hegel)

b. You need to be recognized as a person by others

2. Dalton – instability of public/private distinction

a. Claim about why K law is indeterminate – there is a lot more of public law than official view allows

i. Official view - K law is basically a private law with certain public supplements

b. Definitions

i. Private – k law is a neutral facilitator of private volition

ii. Public – quasi-K; unconscionability doctrine 

c. Argument – private sphere is a creation/artifact of public power 

i. Private sphere is not independent of public sphere

ii. But this does not say anything about whether there should be continued public regulation of private sphere

d. Argument - state is not neutral

i. BUT that state enforces contracts is compatible with state neutrality

e. Argument – finding implied in fact K is like finding quasi-K

i. B/c it is bringing to bear public interests to find a private K

f. BUT this argument is merely trading on ambiguity in “public”

i. Quasi-K are public in the sense of invoking public norms of justice

ii. Implied in fact K are public in the sense that they require the judge to have some understanding of the law  (All law requires this)

iii. All Dalton has shown is that public knowledge is essential for judicial decision making but this does not show all K law is public 

g. Dalton wants to show K law is indeterminate b/c official view of K is unstable (does not work)

i. Public considerations are implicated in private law parts 

ii. BUT all she has shown is that you need public knowledge in the sense of general knowledge to make judicial decisions 

b. BUT law/legal reasoning leads people to accept how things are – claim about the role of law in legitimating something

i. Does it legitimate the existing socioeconomic system? (Gordon)

1. But people avail themselves of the language of the law b/c they already accept the underlying socio-economic order as legitimate, not because the law makes it legitimate

2. Fischl – we would not have capitalism if employer/employee relationship was structured differently

a. Current distribution is a choice – not a necessary phenomenon

3. Is it really the case that the use of private law categories accounts for people’s views of these as necessary or people only employ private law categories b/c they all ready accept these as natural and necessary?

ii. Does it legitimate judicial decisions?

1. Alan Hyde – the law and legal reasoning does not legitimate judicial decisions

a. They are legitimized by coinciding with people’s moral beliefs 

i. Ex: Roe v. Wade; Brown v. BOE

2. Tyler – crucial factor in legitimating decisions is that people thought the procedures were fair

c. The ideals and aspirations of the aw are contradicted by the reality of the law in practice

i. Theme of contradictions – unrelated to indeterminacy 

1. Internal critique – takes normative standard from the law itself and shows it does not live up to this standard

2. 2 responses to internal critique

a. What actually happens does not contradict the norms OR

b. The norms are not fairly described

3. Why this is related to CLS

a. Grows out of Marxism

b. Upshot of critique – reform into non-market based socioeconomic system

ii. Abel on Torts

1. Claims tort law has 3 purposes

a. Pass moral judgment

b. Respond to victim’s needs (compensation)

c. Promote safety 

2. Critique – in each case, tort law does not pull it off/it does not succeed

a. Why – in part b/c of the doctrine and in part b/c of the application

b. How?

i. Moral judgment – tort liability is incoherent as a moral system

1. ***This is the most problematic critique

2. Violates basic principle of proportionality

a. Punishment is either too sever or too lenient

b. Is there really a lack of proportionality?

i. Issue of moral luck – moral status of what you do depends on chance circumstances

ii. Isn’t lack of proportionality a feature of moral thinking?

c. Divorcing compensation from fault is not necessarily morally right

i. How deep should “divorce” run?

ii. Does not necessarily show that tort system does not track moral system

ii. Compensation – tort law cannot adequately compensate needy victims b/c liability is a function of fault rather than need

1. Tort system is designed to meet needs of victims relative to fault/responsibility 

2. Tort system cannot manifestly guarantee that it provides for needs of victims

3. System has bizarre incentive structure

a. Greatest needs are likely to be undercompensated but small claims are overcompensated

iii. Safety – tort liability necessarily translates unequal recoveries into unequal exposure to risk

1. Threat of liability can elicit optimum level of safety only if potential tortfeasor knows that trier of fact will perform cost benefit analysis correctly

a. Assumes c/b analysis has to operate in terms of money

i. BUT relative metric can deal with utility (defined as well-being, pleasure, happiness)

b. This argument suffices if c/b analysis is practically impossible most of the time – need not be theoretically impossible

2. Strict liability regime would maximize prevention of accidents

a. BUT threat of damages encourages entrepreneurs to minimize liability, not accident costs

iii. Feinman & Gabel on Contracts

1. Contract law is an ideology in the Marxist sense

a. Ideology as a set of false beliefs 

i. Particular kind of false belief – involve mistakes about what is really in one’s interest

b. K law presents a false image of reality that is not in the interests of the people who accept them

i. False consciousness – belief in things that are false and not in their interest to believe 

ii. Thus, those who take K law at face value are suffering from false consciousness

2. Central point - K law misrepresents what is going on in the real world

3. Critique requires 2 things

a. Accurately characterizing imagery of the body of the law

b. Characterization about the real state of affairs is correct

d. Global indeterminacy

i. According to Tushnet

1. Metaphysical thesis – there does not exist a single right answer as a matter of law in any case 

a. The class of legal reasons never justifies a unique result 

i. B/c class of legal reasons is a kind of sociological artifact

b. BUT concedes that cases can be epistemilogically determined

i. Class of legal reasons as we understand and know justifies only one outcome at that time

2. The class includes the rules in play and the background rules 

a. Class of legal reasons = those in play at a particular moment in time 

i. This is a sociological artifact 

1. Artifact of distribution of wealth and power at a point in time 

2. Requires lawyers and judges take rules in play seriously 

ii. Must be professionally respectable (vs. being laughed out of court)

1. Professional respectability derives from a certain type of social or political power 

2. Arguments first become professionally respectable and then reasonably powerful as a social or political power increase

3. Dworkin is against this b/c profession may be wrong – so not a criterion for being in class of legal reasons

iii. Law is indeterminate b/c potentially there are always other reasons in the background which make it possible to justify more than one result 

1. Any reason could turn out to be legitimate 

a. This account of class of legal reasons may be too loose

3. Is there any reason to deny this indeterminacy?

a. Nobody can deny this b/c it is to say that some legal question has a determinate answer (it is always and forever determinate as a matter of law)

i. This means the institutional history never changes

b. BUT Tushnet does not show global indeterminacy b/c there are always easy cases that are epistemologically determinate

ii. Concern about determinacy b/c of legitimacy 

1. Epistemological determination is enough to support legitimacy of adjudication

2. Changes in class of legal reasons has no bearing on the legitimacy of a decision judge makes on a particular day

iii. Kress’s Theory

1. Law is not globally indeterminate

a. Indeterminacy is merely moderate

i. BUT moderate indeterminacy is not incompatible with legitimacy

2. If law is indeterminate, it raises questions of legitimacy 

Positivism is committed to c & d but Hart will deny commitment to a & b b/c not using “rule” in Dworkin’s technical sense 





Always treat others as ends, not as means





“validate the rules you ought to validate”





Both of these fit – but neither one perfectly





Purely sociological sense of legitimacy – if people accept it, not whether they ought to accept it





Contradicts w/CLS flirtations with post-modernism








